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Part I Listening Comprehension
(1
Section A o
1. M: Hello, Mrs. White, what can I do for you? 1. A) The woman is a close friend of the man.
W: I don’t know what’s the matter with me?_I’m B) The woman has been working too hard.
always feeling tired. I'm usually worn out atthe\ C) The woman is seeing a doctor. (F what’s the
end of the day. A1 HET | matter, what’s wrong £ H 555 A\ B iRA KT
Q: What do we learn from the conversation? D) The woman is tired of her work.

[#% #7181 “What's the matter with me? " AT&I&Z+B&FE, 8 CIEM. A B1H Mrs. White Rt R) L BERFA
IR, FRUBRER: B. R R wom out(EEFIE), MFRIE: D. RXAHABIR. RHFRIME.

2. W: What do you think of the apple pie? I made it 2. A) This apple pie tastes very good.
myself. o BL&E‘)E B) His mother likes the pie very much.
M: Very delicious indeed. Even my mother cannot C) This pie can’t match his mother’s.
match this. Il& S5 IF HH T 1Y 1 R D) His mother can’t make apple pies.
Q: What does the man mean? © (match: JUAZ, AHAC, AR

[# #71/ Very delicious indeed, FTAIERRAFERIF, AAENKEE. B. C. BFERIPREMEMNMEH: D. X
RHTREEBRMAE. MARFHERR.

3. M: The music is so beautiful that I'd like to dance. 3. A) Take a walk.
But I don’t know the steps. B) Give a performance.
W: It doesn’t matter. No ope will be looking at us in C) Listen to the music.
this crowd. VR D) Dance to the music.

* Q: What does the woman suggest they do?
[ 1B LiBRsE. EFRMES: &ktiit "doesn't matter”, RHE. FTLUMMEINED. A, B, C5RIIEX.

4. M: I'd better read one of the articles for our political 4. A) Read an article on political science.

science class. il )Lk B) Present a different theory to the class.

W: You can’t read just one. They say each presents T C) Read more than one article.
different theory. Ay D) Choose a better article to read.

Q: What does the woman tell the man he must do? (not just = not only = more than)

[ I LRTERR—FEXE, CEANER. A 5RXHEEK: B. EXHSHSTEACHEL FEEIMANS
FREE: D. RXRAEZIE, RiZHIFHIE,

5. W: Mary is always complaining about her job. 5. A) The woman would understand if she did Mary’s
M: Maybe if you try typing letters every day, you'd job.
see what it’s like. Fimsk . B) The woman should do the typing for Mary.
Q: What does the man mean? C) The woman should work as hard as Mary.

D) The woman isn’t a skillful typist.
R FIE LERELLFATHMary IT{E, FFRIEA, B. CEXRR “if". BRig: D. EXKRER.

6. M: Good morning. This is John Parker speaking. I'm 6. A) He wants to make an appointment with Mr. Smith.
just ringing to confirm my appointment with Mr. 1fifi5#t  B) He wants to make sure that Mr. Smith will see

Smith for this afternoon. him.

TEACREATRL | 2Caleleline



W: Yes. Mr. Smith’s expecting you at 3 o’clock. C) He wants to change the time of the appointment.
Q: Why is the man making the phone call? D) He wants the woman to meet him at three o’clock.

% IR HER AR AN AR, He confim X217, Bt make sure EREF YR, A. C 53HERA
BRH; D. £MEYR Mr. Smith. REX+.

7. W: Tom looks awfully nervous, doesn’t he? 7. A) He gets nervous easily. (look # get)

M: Yes. I'm afraid he is not used to_making speeches. B) He is an inexperienced speaker. ( be used to doing
Q: What do they think of Tom? 1Al sth: 245t T-#8---. inexperienced: {% £ 255 /))

C) He is an awful speaker. (Xt awfully fJ&E 15 FR i)
D) He hasn’t prepared his speech well.

[ #7135 “awfully nervous™ #1 “not used to” #FRK Tom FEFRi#, B REANXER. A HETY: C. AX
awfully §&#f5 nervous, B4R i#E: D. making speech BT Rk, MARERE.

8. M: Ibought a few books at the new bookstore. Would 8. A) She didn’t like the books the man bought.
you like to have a look at them? B) There wasn’t a large selection at the bookstore.
W: A few? It looks like you bought out the bookstore. C) The man bought a lot of books.
Q: What does the woman mean? F a few D) She wanted to see what the man bought.

I8 471°A few? " IXtARIBIEM LTS, BEE. IS bought out the bookstore "X T TR HIE" RMIK TH
8. AUCER. A RXHRERESE, B. BExigiREFrfit: D. x+t ARNB T IMMRBIRET,

FREBATHIL, |
9. M: Jane, you won’t be able to get to the airport in ' 9. A) Buy aticket for the ten o’clock flight.
time to catch the 10 o’clock flight. B) Ask the man to change the ticket for her.

W: I realize that now. I'll have to get my ticket l'ﬁ]ig@?ﬁg C) Go to the airport immediately.

changed. \D) Switch to a different flight.

Q: What will the woman have to do? (get sth. done: 1} 5| A F)

[#% #7]1" get my ticket chaﬁged" BAH "BRE", D. AEINER. A EXERH 10 S8/9E; B. get sth. done #iaFH
TREBRE: C. EXRRARENG. RitBLEx,

10. M: Would you get me through to Dr. Lemon please? WRERI 10. A) Dr. Lemon is waiting for a patient.
W: I'm sorry. He's with a patient. il B) Dr. Lemon is busy at the moment.
Q: What does the woman mean? C) Dr. Lemon has lost his patience.

D) Dr. Lemon has gone out to visit a patient.
(get sb. through to... J|:---H:HL 1)

RIFELHETEEERE, MrxLiiAeE., BAHELE “be with a patient (ELRFAER)". BREBNRENE
i#, A, C. DEBRETRIER.

Section B
Passage one
Paul, a salesman from London, was driving past a 11. Which car was badly damaged?
sports car parked outside a supermarket, when he saw it A) A car outside the supermarket.
start to roll slowly down the hill. Inside the car were two B) A car at the bottom of the hill.

C) Paul’s car. (t00...to... A i A~HE)
D) The sports car.

young girls on the passenger seat — but no driver. Paul

stopped quickly, jumped in front of the sports car and
tried to stop it, pushing against the front of the car. 12. Where was the driver of the sports car when the

Another man who was standing nearby got into the car accident happened?



and put on the handbrake, saving the girls from injury.

It was at this point that Paul noticed his own car
rolling slowly down the hill and going too fast for him to
stop it. It crashed into a bus at the bottom of the hill and
was so badly damaged that it had to be pulled away to a_
garage. -‘&;\\‘\

As if this was not bad enough, Paul now fg
had no one to blame. He was so busy chasj
he didn’t get the name of the driver,

just came out of the supermarket and drove away

€ sports éar, who

without realizing what had happened.

‘4_1 C) The bus driver.
ﬁj Who was injured in the accident?

A) Inside the car.

B) At the foot of the hill.

C) In the garage.

D) In the supermarket. (& 15 M A (i & B3 6)

13. Who did Paul think was to blame for the accident?

A) The driver of the sports car.
B) The two girls inside the car.
D) Paul.

A) Nobody. (save...from... {§i - T3H5%--)
B) The two girls.
C) The man standing nearby.

D) The salesman from London.

W #7] B jE A “badly damaged” RBFEXE_RBE—H. HEATHNE Paul EEMEFETR. A. D& |

Paul #{LH9%, B. B Paul (% FRITTR.

[# #7] “the driver of the sports car” ZEXEXREHH, RIEHET. AUBHR LR bERIFET. HikD.
[#% #7] “to blame” ERRXFE=E. WAk Paul iRABREA. ABETRE. TN, ik sports carfy
FERBELEAN. BEA, B.BILELRN, BBITHED. C.AZFIANETESE. D.Pau BCHEZTEE.

7] RO ERIAREY. RifPaulETEBHR. BEA.

1.

12.
13.

Passage Two

My friend, Vernon Davies kept birds. One day he
phoned and told me he was going away for a week. He
asked me to feed the birds for him and said that he would
&
Unfortunately, I forgot all about the birds until thc\z" .

leave the key to his front door in my mailbox.

night before Vernon was going to return. What
worse, it was already dark when I arrived at his house. I
soon found the key Vernon gave me cou}d’not unlock
either the front door or the back door.
desperate. I kept thinking of what Vernon would say \_‘\gﬁg”
|when he came back. (7 —%) & desperate [t 15])

I was just going to give up when I noticed that one

I was getting

bedroom window was slightly open. I found a barrel and
pushed it under the window. As the barrel was very
heavy, I made a lot of noise. But in the end, I managed to
climb up and open the window.

\\3\%

suddenly realized that someone was shining a torch up < W\\\\

I actually had one leg inside the bedroom when I

me. I looked down and saw a policeman and an o
one of Vernon’s neighbours. “What are ygu'doing up
there? ” said the policeman. Feeling like aComplete fool,

I replied, “I was just going to feed Mr. Davies’ birds.”

ettt 3

15. Why couldn’t the man open the door?
) His friend gave him the wrong key.

D) He didn’t know where the back door was.

C) He couldn’t find the key to his mailbox.
D) It was too dark to put the key in the logk.

16. Why did the man feel dcsperate@%%(/mﬂfﬁm
A) It was getting dark. o
B) He was afraid of being blamed by his friend.
C) The birds might have flown away.

D) His friend would arrive any time.

17. Why did the man feel like a fool?

A) He looked silly with only one leg inside the
window.

B) He knew the policeman wouldn’t believe him.
QERfR A SSGE - HEE: (R AR
1R A 1) e 15 W] fth e 6 1 AR I ERD)

C) The torch light made him look very foolish.

D) He realised that he had made a mistake.

WA



15, (W% #7) RCIRARREAGET AT, EREFE]. FURFARRSEN. %A B. CERXATHAR: D. AX
W ZEARAREF]. FUFRARTERLIH.

16. [ #7] “desperate” MERXE_BRBNE_Q, RE—9ERR. MEOREEXZEEARMAEXZR. B
REBNEZR.

17. IR ELFRT. KABKREE MAXHFUX. RUEEB. A tHEBAREEUNMNER: C. &#F
EHRHZE A RAEER. REENHASHEE: D MZRBATEIMENER. HEHRLE.

Passage Three

When Iraqi trﬁ blew up hundreds of Kuwaiti oil 18. What were the scientists worried about soon after the
wells at the end of Gulf War, scientists feared Gulf War?
environmental disaster. Would black powder in the smoke A) The threat of poisonous desert animals and plants.

from the fire circle the globe and block out the sun? /"7,&'( B) The exhaustion of energy resources.
Many said “No way”; rain would wash the black j;7; $§J‘£ C) The destruction of oil wells.
743‘;5*

powder from the atmosphere. But in America, airsampling 1z D) The spread of the black powder from the fires.

balloons have detected high concentrations of particles ! (B [w) %) 545 B B R ) blow up: £E%)

similar to those collected in Kuwait. Now that the fires 19. What was the good news for scientists?

are out, scientists are turning their attentions to yet A) The underground oil resources have not been

another threat: the oil that didn’t catch fire. It hgs formed affected.»

huge lakes in the Kuwaiti desert. They trap inﬁts and B) Most of the desert animals and plants have

birds, and poison a variety of other desert animals and managed to survive.

plants. C) The oil lakes soon dried up and stopped
The only good news is that the oil lakes have no I 2 ﬁ]ﬁ@ evaporating.

affected the underground water resources. So far, the oi:%m The underground water resources have not been

has not been absorbed because of the hard sand just polluted.

below the surface. 20. What are the officials trying to do at the moment?
Nothing, however, stops the oil from evaporating. A) To restore the normal production of the oil wells.

The resulting poisonous gases are choking nearby B) To estimate the losses caused by the fires.

residents. , WC) To remove the oil left in the desert. (X} )& in]
Officials are trying to organize a quick cleanup,

cleanup (ifiFR)IES T fREE)
but they are not sure how to do it. One possibility is to D) To use the oil left in the oil lakes.
burn the oil. Get those black-powder detectors ready.

18. Mk #7] “soon after the Gulf War” IR “at the end of Gulf War”, HIEHISARER. DARNER. A R
X RiGMFHEYEE. RERENESEE. B. EXXER: C. 2REA, FRER.

19. [ #7] RX#ZE "The only good news” —HHh4At THE, “affected” RTIUEM@EA “poliuted”, ATIAED, A R
XiHRHTK: B. ERXANHER: C. 5ERXAVHEE. )

20. [#% #7] RMIS—ER “officials are trying to..." —R)ATHIEE, ETPRA “remove” HEX “cleanup” HIRINE
R, A BRXKRBRAELE™. B. DRXXRE.

WACRRGLE 4 e



Part 11 Reading Comprehension

@
Passage One

HEXE

BEXE, MTERISHRZNARKE, KBS /IMTRIZE IR, BSAMRER. BHHRTLAN/IMTEERET
HEMA S pkiRE. FERERGERERNAEEREMEHFEILMTE. FURBMTES SHIKIEE, HHER
RINFAMENAFELEY. BENERIBRARERETAEZRE—MHBIZR, AREXRR 2S5 EHRENSEE—TAET
REMAZHE/MTE. AHBEIRRAAZKBITMTERESF AT ESHIIBENIE. 5 ETITREMRATEE
 MRBH4RLERNFEMER, ERASKSEBHRENN LT SEYNMTESETAES SRR, REXFE
*RER, EA—F—BMTEE TR BBRtFKE. AMBRZ—GENEETESLEEFSEE. ALHE

H—RXESE: "HRNTFRREETHBRET R A BERBFHER. "

B e

Unless we spend money to spot and prevent 21. What does the passage say about asteroids and
asteroids (/M) now, one might crash into Earth and meteorites?
destroy life as we know it, say some scientists. A) They are heavenly bodies different in
composition.

fi B IR B) They are heavenly bodies similar in nature. (/]
Asteroids are bi ions of the meteorites K wmz .- X . :
ids are bigger versions of the meteorites (it R BRI R AR R . A TR

) that race across the night sky. Most orbit the sun far C) There are more asteroids than meteorites.

from Earth and don’t threaten us. But there are also D) Asteroids are more mysterious than meteorites.

22. What do scientists say about the Ellision of an
& Z asteroid with Earth?
%ﬁ} > % A) Itis very unlikely but the danger exists,
Py, s NS g Lo
Buy $ 50 million worth of new telescopes right " U B) Such a collision might occur once every 25
years.
C) Collisions of smaller asteroids with Earth occur
more often than expected.
D) It’s still too early to say whether such a collision
might occur.
23. What do people think of the suggestion of using
nuclear weapons to alter the course of asteroids?
A) It sounds practical but it may not solve the
problem.
B) It may create more problems than it might solve.
C) It is a waste of money because a collision of
asteroids with Earth is very unlikely.
D) Further research should be done before it is
proved applicable.

thousands whose orbits put them on a collision cfurse
—
with Earth.

ba[%

now. Then spend $10 million a year for the next 25 years
to locate most of the space rocks. By the time we spot a
fatal one, the scientists say, we’ll have a way to change

its course.

Some scientists favor pushing asteroids off course
with nuclear weapons. But the cost wouldn’t be cheap.
—_—

Is it worth it? Two things experts consider when
judging any risk are: 1) How likely the event is; and 2)
How bad the consequences if the event occurs. Experts
think an asteroid big enough to destroy lots of life might
strike EM& every 500, 000 years. Sounds pretty
rare—but if one did fall, it would be the end of the world.
“If we don’t take care of these big asteroids, they’ll take
care of us, says one scientist. “It’s that simple.”

24. We can conclude from the passage that___.
A) while pushing asteroids off course nuclear
weapons would destroy the world
B) asteroids racing across the night sky are likely to
hit Earth in the near future (34& %) o] GEPEAR /)
C) the worry about asteroids can be left to future
generations since it is unlikely to happen in our

lifetime CCREARIE R . i AR X EIER

The cure, though, might be worse than the disease.
Do we really want fleets of nuclear weapons sitting

around on Earth? “The world has less to fear from REUUAEMIAELLODANKISE, AAL
doomsday (8% K M:HJ) rocks than from a great nuclear BT AT b ] 550 8 45 o e — %)
fleet set against them, ” said a New York Times article. D) workable solutions still have to be found to

TURALTEE 5 walalalnt



prevent a collision of asteroids with the Earth.
M1 R ER & AL OB S ERAR , (L0
FE ol 1 T RS HE)
25. Which of the following best describes the author’s

tone in this passage?

A) Optimistic. (5RALI)

B) Critical. (itiF%)

C) Objective. (&MH)

D) Arbitrary. ({EEHY, M)

(FE& SN2 MR LESPF e, R FAIMIE O

21, [RH FCHMTEEREGEE _RE—F. RAENRENBARE. TRENRARXNME, BT, A
composition 2 "R ": D. EEXERFREWIE: C. EXRFTRNET. RARBENES.

22. [ RXE_BRE-ARMTERIETHECRHER A TTEE. EFARR/LEL S0 FE—R. UAL
W. B. 25 F ARMEHMAE. C. RUEFRI K. IMTESHHRMWE/LER, D. RXHFHTHIMTERTHE
EEHEK, ETELEMRIEE G TEEN B8, .

23. (R #T) HEXEAERTH. ANEEROCEEROEE, MAESAREATTEILERESETE, BRRRAX
®id, A ANBELCER. ZRBEIREMIL/IMTEN: C. EXFERERMSFIEN TRBH™EY. AURER
EHEXEE: D. FERE.

24, [RAT] HRERE. A BRBARSARGHR EZHRE FRERSRMK: B. RRMFREIERR: C.
Fx k12 D. BFXPHBRBEMATRERK. AUERFHE DIER.

25, (M AXABT/IMTERMER. 5|8 TRERNITFNURFEFAITN. MRARUHEMENTE. AURE
Eﬂﬁﬁ*ﬁlﬂﬂ JﬁﬁC A. BIEATFE, FBFU: B. J?B’C&ﬁ%weﬂ’ﬂﬂ"—i Et:gF#FE, D. (EERFR

Passage Two

NEXE ‘,

BIISE. EAERAR, WRERERDBRL R NER, BARRMRENHITF . BOBLRA - EHROMNEEE.

R R ETRERRD TIE 75%, FERIMAFKEREAVASRILEREEFESER, XERRSAIE
EE. EENTERSHS EITESHEANRIIZR, H TR HEETHIRNTRER, X MIEBESEETEN |

| ERRR TR, S LR RAFER LNEEROK TR FREE TN TEERE, BLYANIMTEXE
SYUE . EEXRF2E, MAFHERFRAEEDIBIMBILTRERER TS EEEE X L TREBES, zw
E%ﬁﬁﬁiiﬁﬁﬂtﬁiﬁ EBERRD .

AEERRI ) B

Believe it or not, optical illusion (§%4t) can cut 26. The passage mainly discusses___

highway crashes. A) a new way of highway speed control (H1.0,» 45
A& )
) B) anew pattern for painting highways

Japan is a case in point. It has reduced automobile C) anew approach to training drivers
crashes on some roads by nearly 75 percent using a D) anew type of optical illusion
simple optical illusion. Bent stripes, called chevrons( A 27. On roads painted with chevrons drivers tend to feel
FJ%) painted on the roads make drivers think that they that___ —
are driving faster than they really are, and thus drivers hia, : . A) they should avoid speed-related hazards

slow down. /"7,'(3; B) they are driving in the wrong lane

C) they should slow down their speed

D) they are approaching the speed limit

28. The advantage of chevrons over straight, horizontal

bars is that the former___

TR 6 wACRlee



Now the American Association Foundation for A) can keep drivers awake

Traffic Safety in Washington D.C. is planning to repeat B) can cut road accidents in half
Japan’s success.Starting next year, the foundation will ) will have a longer effect on drivers
paint chevrons and other s of stripes on selecte: D) will look more attractive

————
roads around the country to test how Wi . The American Association Foundation for Traffic

reduce highway crashes. Safety plansto___.

Excessive speed plays a major role in as much as A) try out the Japanese method in certain areas (test

o,k
one fifth of all fatal traffic accidents, according to the Q&Xﬁy’

— try out)

foundation. To help reduce those accidents, the foundation B) change the road signs across the country

will conduct its tests in areas where speed-related hazards C) replace straight, horizontal bars with chevrons

are the greatest— curves, exit s’]g&w, traffic circles, and D) repeat the Japanese road patterns
bridges. . What does the author say about straight, horizontal

Some studies suggest that straight, horizontal bars bars painted across roads?
Sene

painted across roads can initially cut the average speed of A) They are falling out of use in the United States.

drivers in half. However, traffic often returns to full B) They tend to be ignored by drivers in a short
speed within months as drivers become used to seeing the . period of time.
painted bars. C) They are applicable only on broad roads.
Chevrons, scientists say, not only give drivers the D) They cannot be applied successfully to traffic
impression that they are driving faster than they really are circles.
but also make  lane appear to be narrower. The result is
a longer lasting reduction in hiéhway speed and the

number of traffic accidents.

26. [ 7] £XERH—MFNTBRLEEZE. HTEMRBEUARMR. AMURERNE. ElkiEA, B ARA
REZLEEN—1AE, REUEES: C HAEHNENFEFEI: D ARELASHENFIE.

27. R AEXE_RBE—ATHUME AFEERERNBEARELIREER, EHRE, AUEC, A
D EXRRBIEEMNBER, RANCRIEERS, B. RXXRE.

28. [ 7] EXERRKEENBRE, ANRRAEET: MESAEFETHER. RAFHERHYRERAX.
FilieC, A, DEXFKRE: BIEKTFLHHRE.

29. [ #T] EXTHhEMitE NE=ZBFL. XHPRITEIMHERHHINES., LEXRREREFMES L,
LA ER. B. £EMEERE TRIAMANKE, C ZREXKEMEE, TRITNZES: D. 2@, TREHE
KIIART. b

30. [ #7] X FATFEMHAREEERBE 0, REAINIRIEARMELLELRMS, HUEB, A BEXKE

RREER. C. EXARRERFF. D. EXKRER.

Passage Three

HEXE

RN, XEHBEEAANEEEEAR). HANMKELXBRECENRIOLARE. KEE—ERFEAMIS KX
HRE—MSAAR, ATMMKET. REERAEMSNAZERALTEMNZBETA, Ol th B HRE T A & A REN
TBIR., AREEHEFIEZA TN S EDDB Needham HIGHEESREZHMEBEZERNERKFHEBAEHN
A, NI EHFRENSE, BRNBETESEEEPRITHNENE. TEHNBLABRERERR. —LRXOKRE
ZE . FFEMFBEOA. —LRBHRFHA. TEERTRFELA . SINEH. HE. FENNBEBAIIRINEZ. E
SEERKFRBETREGNER . BADNERSBEBEZOERES. TERTTAEBGETUREBMEWMRAR, R
H-ERERENBF. ATHAMMEMBERERE, T ERABREYNEANRXERRNENTERFTXERNER

T EPEY, IRREE. |
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Amtrak (£ 58k 8% iz 2\ w]) was experiencing a 31. What's the author’s purpose in writing this passage?

downswing in ridership (%iz &) along the lines A) To show the inability of trains to compete with

comprising its rail system. Of major concern to Amtrak planes with respect to speed and convenience.

and its advertising agency DDB Needham, were the B) To stress the influence of the automobile on

long-distance western routes where ridership had been America’s standard of convenience.

declining significantly. C) To emphasize the function of travel agencies in
At one time, trains were the only practical way to market promotion. (DDB Needham A~ & k4T

cross the vast areas of the west. Trains were fast, very t, XEHL HATINNESIREIF, A

luxurious, and quite convenient compared to other forms XTI iEAsER.)

of transportation existing at the time. However, times D) To illustrate the important role of persuasive

changed and the automobile became America’s standard communication in changing consumer attitudes.

of convenience. Also, air travel had casily established (EEEEH ., EMiLX, TR EAFE

itself as the fastest method of travelling great distances. ARl R B A TR B B R, XETBEAK

Therefore, the task for DDB Needham was to encourage % HIZE i R

consumers to consider other aspects of train travel in %\ 32. It can be inferred from the passage that the drop in

order to change their attitudes and increase the likelihood E3 Amtrak ridership was due to the fact that___.

that trains would be considered for travel in the west. A) trains were not suitable for short distance
Two portions of the total market were targeted: 1) passenger transportation

anxious fliers— those concerned with safety, relaxation,———————_B) trains were not the fastest and most convenient

and cleanliness and 2) travel-lovers — those viewing form of transportation (X% F1 KHLHIE AR M)

themselves as relaxed, casual, and interested in the travel C) trains were not as fast and convenient as they

experience as part of their vacation. The agency then used to be

developed a campaign that focused on travel experiences D) trains could not compete with planes in terms of

such as freedom, escape, relaxation, and enjoyment of luxury and convenience

the great western outdoors. It stressed experiences gained 33. To encourage consumers to travel by train, DDB

by using the trains and portrayed western train trips as Needham emphasized .

sonditub st entines E A g A) the freedom and convenience provided on trains

y B) the practical aspects of travel

4 " C) the adventurous aspects of train trips
D) the safety and cleanliness of train trips

34. The train ads were placed among family-oriented TV
programs involving nature and America because___.
A) they could focus on meaningful travel experiences
B) they could increase the effectiveness of the TV

Advertisements showed pictures of the
scenery that could be enjoyed along some of the more
famous western routes and emphasized the romantic
names of some of these trains (Empire Builder, etc.

These ads were strategically placed among family-

oriented TV shows and programs involving nature and

America in order to most effectively reach target programs
audiences. Results were impressivi C) their profits could be increased by some 15
percent

which was focused on in one ad, enjoyed a 15 percen - 3
! oy P D) most travel-lovers and nervous fliers were believed

to be among the audiences (| 3CH#EF T2 H
PRERBR T E . KEMAIURE THE
(anxious fliers), X EE 5 B ARMEHM T H
IR T4 —2K{HTE, Bl travel-lovers).
. According to the passage, the Empire Builder enjoyed
an increase in ridership and profits because___.

. A) the attractiveness of its name and route was
effectively advertised

increase in profits on its Chicago to Seattle route.

B) it provided an exciting travel experience

C) its passengers could enjoy the great western

AU 8§ Wit



31. B #] 2XFE-BEHERERN - TFEL. FREHDENER. FEMBRHHEERRMR. D. #
MERMEMPR. FURERER. A BTAY. FRUBESX: B. EXRFRENKEMTME, RIUTE
iR C. AXMTIFEHRB SHRIERN. TRRITH.

32. M KEEEETHRMREEE _KRIEE. TERHAENHENCIMERESIEMY, ALEB, A EXR

outdoors
D) it was widely advertised in newspapers and

magazines in Chicago and Seattle

T R

RIAXNERKBERNARAR, RARCEERERNHAEMER: C KEMBRRSKRE. Wik, MARR

gEL: D. EXPRAENLBEERRE. TRFEENHEN.
33. [ #7] DOBHMI EEAEEXE=BBF—H “stressed” 25, BXERITHNERZH, C ERLEN®IR,
A DHEFTEMEE. MATREMER: B. practical RXFHEIEZRAMER. NECEZI THE.
34. (R # IEGHHEEERE—BE-G. HP “inorderto” RREEMASTHEN. LREFE, BHT |
EABMRS| BFRUA, DRRIAMAAAXERBHFERX, FINER. A XREAX. TREE: B X%%., |

T E#E; C. 15% K& Empire Buider fF|igigc. REEHLPHAE.

35. (R #] ERE—BRE—ADPNE SR THETMRRF 6% Empire Builder fi S 2N EZEMRBHER, X
ERERMMERZE. FIEFEEKMNER. B. CX%%: D. Chicago and Seattle RERIITIE, FRITEXIT
X,

Passage Four

HEXE ;

R, BRRARZANAL FHESTRNFRET MO, MAREMOLFER, X—L2NEHFENT |
AARHEEERLEHER, KHARNTASE Brocklehurst AN PR E MO KR EF MM F R P OBEHREE |
BRI SRR, §hilsh &BERTR 2 K/ K B B R RN . BilP SF AR RA /N KRB R R ER]
MEFHAREREFERSYPEKNRE, SREREENEP. ARATUEHEK. MERHT. ARHESEEEH

S s

B, MIHAEHAMERT . FARRAEIFH. ARENESNEIMECLARE. RRARREENRSLAE

Why does creany go bad faster than(butter? Some
researchers think they have the answer, and it comes

down to the structure of the food, not its chemical

1. BREBHESEINER/YNEN, EFENNTRAZHERIBE.

s s e e e

36. The significance of Brocklehurst’s research is that

“!j\{i"%lé; A) it suggested a way to keep some foods fresh

composition — a finding that could help rid some anout without preservatives (% 55 8L 520 )
processed foods of chemical preservatives. % (\c\.«oﬁ B) it discovered tiny globules in both cream and

Cream and butter contain pretty much the same
substances, so why cream should sour much faster has
been a mystery. Both are emulsions— tiny globules
(/hBK) of one liquid evenly distributed throughout
another. The difference lies in what’s in the globules and
what’s in the surrounding liquid, says Brocklehurst, who
led the investigation.

In cream, fatty globules drift about in a sea of water.
In butter, globules of a watery solution are locked away
in a sea of fat. The bacteria which make the food go bad
prefer to live in the watery regions of the mixture. “This
means that in cream, the bacteria are free to grow

throughout the mixture.” he says. [r] SLEG R

butter
C) itrevealed the secret of how bacteria multiply in
cream and butter
D) it found that cream and butter share the same
chemical composition
37. According to the researchers, cream sours faster than
butter because bacteria___.

A) are more evenly distfibuted in cream

— B) multiply more easily in cream than in butter (grow

multiply)
C) live on less fat in cream than in butter
D) produce less waste in cream than in butter
38. According to Brocklehurst, we can keep cream fresh

WRRERE 9 iRl



When the situation is reversed, the bacteria are by

locked away in compartments (% ¥t ) buried deep in A) removing its fat

the sea of fat. Trapped in this way, individual coloni B) killing the bacteria

cannot spread and rapidly run out of nutrients. They also % C) reducing its water content
SN\

slowly poison themselves with their waste products.“In % D) altering its structure (4% id] - zhidl)

. The word “colonies”(Line 3, Para. 4)refers to___.

butter, you get a self-limiting system which stops the
bacteria growing, ” says Brocklehurst. A) tiny globules
“The researchers are already working with food B) watery regions

companies keen to see if their products can be made C) bacteria communities

resistant to bacterial attack through alterations to the D) little compartments
food’s structure. Brocklehurst believes it will be possible 40. Commercial application of the research finding will
to make the emulsions used in salad cream, for instance, be possible if salad cream can be made resistant to

more like that in butter. The key will be to do this while
keeping the salad cream liquid and not turning it into a
solid lump.

)%2: bacterial attack___ .
L A) by varying its chemical composition (5, £ %
F—B) '

B) by turning it into a solid lump

C) while keeping its structure unchanged

D) while retaining its liquid form

36. [ F_RBHSEX—LZRMNEMTNME, IFELARKARARNEEZEX. HEABTENIRAY
FHERERLERER. ARMEANEXER, B. XM ZASH TREAXMABERMER: C. [[XKRA
BHEENRE: D. FRELEM.

37. R HE=BHSISTH, ETHRASHAF/NRENSHARR. ARERSENHPER. B multiply 25
grow FIE XA, FRIAB Ef. A BXRRESLEK. EHRARNFEAR: C EXFRAENRY: D. FX
KRR,

38. [R#7] “fresh” MNBE—FRE—HRHH "be made resistent to bacteria attack”, “though” ZER2A.. Bl
TRYNEN, D EREEN®EIR. A, B. CEXHXRER.

39. [ #7] FE3x “individual colonies” Lkr LISMBRAI—RAPHEH S BIFHMER. AL CIEMR. A &HIE
HABMWAREY, B. DERMBMNERKE, TREHES.

40. [ #7] EENBBEMEEXERE—Q, NFRHEDENES. D EALE. A MEUFEMART, 28—
BMUEE: B. ERE—AHEE: C. 5RE—aHEK.

St g
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Part 111 Vocabulary and Structure

41. She ought to stop work; she has a headache because ) has been reading (141 ] —REBLAERT, FIRMAR
she___too long. U A FIBLAE SE B A TN . ORI ERIFr 8k
Bl & K 5B R)
B) had read C) is reading D) read

W L RIFEZIA “has” RIMERS, B because 3| FHIRERFN AR SHIERIE too long, BNTRIEEZHAR
RBEFRABHITH, REFENNENHAENTME, EA,

42. Niagara Falls is a great tourist ___drawing millions A) attention (JEFE 5)
of visjtors every year. B) attraction (W 5| £)
- L C) appointment (£)%%)

i) LB F e
D) arrangement (Z¢HE)

[ #) attraction B3| AMEY. ®&: A C. DBARAEE.

WAL [ weReRCARS



43. I don’t mind ___the decision as long as it is not too A) you to delay making
late. 18 i B) your delaying making
C) your delaying to make

D) you delay to make
[ #7] | don't mind ERFBIRHR. REMMRHZRESLMN, Tshifl delay %A delay doing sth. 54, Frili B,

44. The hopes, goals, fears and desires___widely between A) alter (2¢7%)
men and women, between the rich and the poor. B) shift (%)
5y C) transfer (??Zdj)
D) vary (BRI A~ E])

% #71 varyiﬁ':ﬁ'ﬁ#, T A. alter #2; B. shift ﬁﬁtuﬂﬁ; C. transfer #%h, #zh.

45. Corn originated in the New World and thus was not ~ ? A) being cultivated
known in Europe until Columbus found it __in B) been cultivated
Cuba. C) having cultivated
D) cultivating
1B Eh A F kb

[ 4] cultivate 55 it BRIRER . T found EAMESAERM, RRMTHE, FUEA, B. C. DRATEM.

46. The sale usually takes place outside the house, with A) having seated

the audience___on benches, chairs or boxes. B) seating

D) having been seated

(W 47 seat (BAME, BRI, HABMESHR, & with il + HTLH%, audience 2 seat XIS, it
EHAMR, FLEC. A, B, DEKRTEM.

47. This kind of glasses manufactured by experienced A) is worn
craftsmen___comfortably. A B ah im0k Hitk B) wears
C) wearing

D) are worn

[ #7] wears EZXERMFARYENIT, AESNEXREBINENY, ®F "ﬁﬁﬂﬁ". A RIZHIFES feel, wash,
write &, Bl B,

48. Some diseases are___by certain water animals. A) transplanted(F8#4)

B) transformed(2k%%, {#745{k)
C) transported(G&#)

D) transmitted ({415, {£4y)

M W EER A A BhiF transmit, BRI, A transplanti§ A KR ENEIE: B. transformésﬂﬁ, Tk C. transport
ﬁﬁ mmm:cna—wmmg, :

i ) [ 3L

49. Wouldn’t you rather your child___to bed early? A) go
B) went

would rather f5 F 115 < C) would go
D) goes

[#% #7] would rather FREHIES, 1BiEZAA—ALTEM, &ikB,

WALERGEE || veatulaial



50. Although Anne is happy with her success she A) that

wondel:rs__will happen to her private life. LAY /B) what (754w iBE MY il &REM])
C) it
D) this

[#% #7] what 5| S5 A 511 wonder B93iE, H what 0 wonder & £RiaiES, #i£B.

51. The words of his old teacher left a___impression on A) long
his mind. He is stjll influenced by them. B) lively
B C) lasting (FFAI10)
D) liberal

R AT A —amEE, Hda st m%ﬁﬁﬂ:ﬁéﬁ FAR”, FILEC, A long FRIARESIMR. B.
DFEAE.

52. Mike’s uncle insists ___in this hotel. A) staying not

B) not to stay

C) that he would not stay
D) that he not stay

RERLIEC: (should) + £hid] B E

[#% 7] insist REAI MR EHIES . should AT&HE, FILED. A. B. CHIGHFIER.

53. We agreed to accept___they thought was the best A) whatever

tourist guide. B) whomever

“E‘{f'ii
WM 1y C) whichever
D) whoever

[# #rltourist guide $EA. FRAAREER A, C; ZHAGREIE, BEBKENX. FMLLUED: A “they thought” BiE
PN
54. Ttis our___policy that we will achieve unity through A) consistent GFECHR . 5 —SerERLE BLPE)
peaceful mcansJ BUTRERS (it eI B rB) continuous(E4E AW 1)
R that f5 I 1)) C) considerate({&41])

D) continual GE£E(F), W[ HEAT [H]IT)
[#& #T]policy % 5 consistent g, FF "—RIHK " B. D ARTHEANELSE. FRRBCRMEHN—BE:
C RAW LI,
55. Between 1974 and 1977, the number of overseas A) by

B) for
C) to
D) in
[ 47) HEmEIEERA iR by: B-C. DEIRGERMELLTIAE, K to RTREME, SABFH.

visitors expanded __ 27%.
|

SRR W (—
W AN ST il by

56. Although many people view conflict as bad, conflict A) by which
is sometimes useful ___it forces people to test the B) to which
relative merits of their attitudes and behaviors. C) inthat ({£ T-, 1. HA)
AT 2 A DR O & D) so that

[#% 47] in that 3824 F because, BEERE.

TGRS |2 WAl



57.

58.

He is___about his chances of winning a gold medal

in the Olympics next y|ea.r. PR R AE I

A) optimistic(RILET)

B) optional(EHEM:AY)
C) outstanding(AsH#Y)
D) obvious(BH!E /)

IR 7] R FHROSHONS . —RRRBSFRNRERGSE, FUZA. B, C. D BFRTIRSE,

Sometimes I wish I___in a different time and a

wish f5 A LSS

different place.

5BAFELMR, HidxX

A) be living

B) were living

C) would live

D) would have lived

; I 47] wish SN ARERRIUES, TP RTSAERLHERNRI, FUBER: CERSHRFLARNE

59.

L D RSN ERTERAEM.

The director was critical___the way we were doing

[E] € $ AL

the work.

- I #] be critical of 3% 3t HhBI". REEHE.

60.

In a sudden___of anger, the man tore up everything

within reach. l

PR

A) at
B) in
C) of
D) with

A) attack (X di, &)

B) burst (5%, %, RERREEL)
C) split (#%, W)

D) blast(—saFIHIA. i)

" R #fIburst SIBAMMATAE , FTLUEB; A attack Heal; C.split s, D. blast BAMRKE, hISERMHIT, A

61.

62.
' every year.

63.

C. D|TREATRTRSHHR.

she realized it was too late to go home.

SR

A) No sooner it grew dark than(No soonér...than...
RIS
B) Hardly did it grow dark that (hardly 5 when #

L)
C) Scarcely had it grown dark than(scarcely 5 when

AL
D) It was not until dark that

[ 471 HEERE. A. no sooner... than, EE@REH: B. hardly... when 4 REMAILH: C. scarcely ... when

REMEHN: D. EW. BEAGL,

In Britain people___four million tons of potatoes

1] SLHET

A) swallow(#TH)

B) dispose(#bFE)

C) consume(i #t)

D) exhaust(7H#E, ¥LRY)

[ 471+ S A7 #E A consume —idl, A. swallow HIERIRIE, {ERTISHRMAZIE, B. 438, D.exhaust, ¥R, *

EHMNYE,

I'd ___his reputation with other farmers and business
people in the communjty, and then make a decision
about whether or not tp approve a loan.

B ERLEET

A) take into account(Z% [ETEN)
B) account for(fi#¥%)

C) make up for(Bfkbh, #M%)
D) make out(FiF#, FHA)

[ #7]40h make a decision B&:= “his reputation” BEEEEZ—, FrilEH#ALE B ZhiTiEiE take into account,

B. C. DHWRESFHATE.

SNV
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64.

65.

66.

67.

68.

69.A lot of ants are always invading my kitchen.

70.

It is essential that these application forms___back as

early as’ possible.

HEFALEC: (should ) + 2 i J5UE

A) must be sent B) will be sent

C) are sent D) lbe sent

[#% 4711t is essential FRINTDERERIES, BIFEHRAMAA: (should) + Zhia R, FAED.

She cooked for a long time so as to make it___enough

to eat.

A) mild({EFI1)
B) slight(fE941ty. 21HH)

C) light(561. ZH0M1)
D) tender(B[1y, £F9511%, &)

[ X FRAMREIZEA tender; A. mild RRSIRHMWS: B. slight 24, I FEAWME: C. lightZK. A B,
CAHEaE. '

FooRAMER IR, HREN] tender “#K[1)”

We take our skin for granted until it is ' A) beyond(H - L)
burned___repair. . ) B) for
T beyond + # il K- FiAfER” CJ ‘without
D) under

(W #fltake... for granted IER LA, BTRAIFHLER, beyond RR "BH-EE". B. C. D FRERELE.

The computer revolution may well change society A) certainly( 45k Hb)

as___as did the Industrial Revolution. B) insignificantly( 4~ i $Lith)
(PUC) A A il change, W1 ) ——————"""SC) fundamentally

FEEEZA.) : D) comparatively(F{xtHh, EbicH)

[#% #7181 Industrial Revolution ROZELE AT, HiEMAIE L RRANER, FTRLEC, Acertainly RFWEN: B. TH
E, 5a%ER: D A3t FAaXFELEEHE. MEEar i TnEE.

___in this way, the situation doesn’t seem so A) To look at
B) Looking at
C) Looked at

D) To be looked at

disappointing.
{EIR 1 8]

[ S REEREAEIEANRIE, Look 5the situation RBRXER, AURATESARXRES. A. B. DEX
TIER.

A) nuisance

B) trouble(45i{i%)

C) worry(#1k)

D) anxiety(fi}&)

(nuisance & A~ i, ZoR A NTHIRIIA B
Hy”, R

R I E—OMREH#THRTHNBENESE. E_ORNE—AH—SBE, FUEA, B. C. DRRAAE.

They are a thorough___.

) RS HEIT

Some women___a good salary in a job instead of A) must make

staying home, but they decided not to work for the B) should have made

sake of the family. C) would make

RS
ML C D) could have made

[#% ATIEEF b but R FIM, REHTXR: could have done sth. RIFRBUELEARATRELR L, BELEHFX
K&, BUED, ARTHHERRMEENR: CBITEWRR: should have done sth. RR “FRZMERE, M
"KREEFRARET. EETIRARENMHAELINZESE. X B8 RE HEW. SRS,

ARG |4 weautatal



Part IV Cloze
In a telephone survey of more than 2,000 adults, R IK'% T71. A) excessive B) extra
UBLUSY: 6oy 4 agitional D) added
Jhey believed th olved (iekE d BN 1%
21%said they believed the sun revoly aroun b F72. Ay what B) C) that D) other
the earth. An 71 7% did not know which revolved 73. A) virtually B) remarkably
around Hb BRFKFH C) ideally D) preferably
RIfEf—4 4. A) learned B) suggested
) taught D) advised
A s ~ A) those B) these C) who
D) they (#§ L3 FIHIN)
] A 3
72 . 1 have no doubt that 73 all of these people were 74 76._A) on([4l5E HAL) B) with
ot N N i s . '\ﬁ)\“ C) under D) for
in sc To that the earth revolves around the sun; 75 ma % 77, A)formed B) altered( ik )
BB R B & '
A . ! C) believed D) thought

even have written it 76 _a test. But they never 77 their

incorrect mental models of planetary (782 /J) 18

because their everyday observations didn’t support 79

AT

their teachers told them: People see the sun moving 80

the sky as morning turns to night, and the earth seems

78. A) operation ({2, i&#%)"

B) position(fif &, Hhfr)
C) motion [f] 17 (JE5h)
.\a@‘_k‘)\u D) location({i7 ')

79. A) how
C) that

D) what (BE{E support

B) which -

HIEE i, XYEMR)I R %

stationary (& 1EHJ) 81 _that is happening. B iE)
Students can learn the right a s 82 heart in 80. A) around B) across
class, and yet never combined them 83 their wor C)on D) above
s . A) since B) so
models of the world. The objectively correct answer the C) while(fE - 11iil) D) for

professor accepts and the| 84 personal understanding of 82. A)to
the world can _85 side by side,|each unaffected by the % B) by(learn...by heart: ¥ iff+-)
C)in D) with
ofher: e 83. A) with B) into
C) to D) along
84. A) adult’s B) teacher’s
Ji i 5 8L C) scientist’s

Outside of class, the student continues to use the
86 model because it has always worked well 87

that circumstance. Unless professors address _88

errors in students’ ,| personal models of the world, students

D) student’s (5 professor A%} 37)

85. A) exist(f£{r)

C) survive({£{%)

86. A) private
C) personal

B) occur({tiBR)
D) maintain(Zi£§)
B) individual

D) own

87. A)in (in that circumstance: ARG )

are not ’& to replace them with tHe _90 one. il b i gi \f’\(/)l:h C)on
88. A) general B) natural
C) similar D) specific
B k- 89. A) obliged B) Jikely
C) probable D) partial
ARAT ] RE - R CE B 90. A) perfect(5 EHfY) B) better
C) reasonable(4 E ) D)1c0rrect (IER)

TR |5 lalalinl



